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10. The probability of drawing a spade from a pack of card is
1 1 4 1
- S ——— d =
a) g D139 1397
PART -D

Answer 5 questions. 5x2=10

Question number 14 is compulsory
11. For the given demand function p = 40 — x find the value of the
output when nd = 1
For the function y = x® + 19, find the values of x when x equal
- to 27.
13. The cost function of a firm is C = x°
of output (x > 0) at which average cost is minimum.
14. Find the market vlaue of Rs.325 shares of amount Rs.100 ata

— 12x2 + 48x find the level

premium of Rs.18.
£ the divided received from 10% of Rs.25 shares is Rs.2000

on

Find the number of shares.
16. Find the first quartile and third quartile for the given observations. '

4,6, 8,10, 12, 14, 16, 18, 20, 22
17. An unbiased die is thrown. If A is the event the number
appearing is a multiple of 3 and B be the event the number

appearing is even find whether Aand B are independent.

PART -C
Answer 5 questions. 5x3=15
Question number 22 is compulsory.
18. Ify = §x *2 {hen obtain 18 vellué of elssticly &t ¥ =1
X+ 2

19. A manufacturer has to supply 12000 units of a product per year
to his customer. The ordering cost (C,) is Rs.100 per order
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